aF0 35y 5 2 % 15

iR 4, : PEAR __FSRABEE
o rm ward] B R H B 5 PN MEREENEECET SRS
% i a 2 # @ # e
H M1 -2TH g=ed — | B ELEE LY - - - -
R =it L1 (G 2.8l 4. 200 11l 1.1 —|  —
H1~3TH £ — | R |JE L 2 b - - - -
BN =0 L1l 2.8 4. 200 11k 1.1 | —
5 N L - 2TH £ — | BRRR | YA b - - - -
I & gz 1160 280 4. 288 14t 1.1 —| -
BNE g1 1.2 [fl 3. 4pl 4. 56 0.9%8 0.9 —| —
7 EE[1 - 2TH e — | BEHR | LR b — — - -
piliE Eced 1160 2.8 4. 200 110 1.1)  —| -
i =ty L2 2.8l 4. 200 11l 1.1 —| —
FEEFH g L1 2.8l 4. 286 10l 1)~ —
L et 12 [l 3. 1 4. 500 0086 0.9 —|  —
E= I L1l 2.8l 4. 2% L1t 1.} —| —
EIREEN =i L1 3 1 4. 580 11t 1) —| —
<| B4R gt L1 2. 800 4. 280 1196 1.1 — -
 BEE g1 L1l 2.8 4. 2% 11t 1.1} —| —
& RJIETL - 2TH = — | B R R e - - - -
£l =il 1.2 [l 2,800 4.2 1.6 1.1 —| —
L T&E g — | ESHR R L HEE - - - -
T=# g 11 3. 1 4. 500 11t 1.1~ —
FUSHET e — | BEHR JE LU YA b -l - - -
i) £t 12 (3. 10 4. 500 0.9 0.9 —| —
FET 1T H il S — | BRR B LA e e S | —
_RERLLSR o sk 1.1 JE b eE v b v e e | —
FET2TH Ex¢ 1. 1 |8 Y8R br e b v - -
) BEEEATL - 2TH |8 — | R |V LA b B I .
B FER £ L2 % 2. 800 4. 280 14t 1.1 —| —
AT - 2 TH (2R — | B R b b = T e




aF0 35y fis 2 % 2H
i XHTAT 4, PEAb __FSRABEE
S e suskEr| w0 W w0 w4 [P FEHERTIBERIORES
% i @ # e
o K BEIRET et - | B - - -
FER1~3TH i - | B# e e
# ER RS Lo B
1 B — | & e | —
2 ERRES O 1.1 ? [fzttfé o
EFRELS o it
1 BRGNP —fti 3. up 45—~  —| -
2 _ERRLUS o s L1 8.5 248h 1oyl 1)~ —
EIES TR R Lo R ik
1 R s — | WS |ECAEE LT L AT LT | —
2 _ERREUA i 1.1 J%tti%gtti%ﬁﬁt{:fﬁﬁftt‘%% o
ERCEAS D Hitsk
1 BREEIREUHIG P o) B T A o e
2 _ERRLIA b BB | B B
&l BT gt Ly - -
i i JE L~ -
HHARRRT e CIRE 101 - -
72 HFEL1 - 2TH = - - - -
FE g Lo 0.9 — -
EIN: ) £ L9 0.9 —| -
~ A e | T e
e £t SR LY - -
A FH o ST O | I IS
Fir1~5TH S it s - o e I
_ERCLAS} 0> Hiigk - - -
Fikn AR T E i b oD FH R ek
1 Bl - i | -
2 ERLLAS o i MtedE b — -




aF0 35y 5 2 % 3H
i XHTAT 4, PEAb __FSRABEE
S e suskEr| w0 W w0 w4 [P FEHERTIBERIORES
% i a 2 # f# # e
A Fka _EFELLS O Hintek
1 EESEIREHUEN o B H K T N ! I I
2 _EERLA O i L1 1o 2406 14k 1.1 —| —
AT - 2TH (B — | BEAR | P L e
=% A TR T o A
1 s g — | EEHR ELLIEE LLHE LT LY | —
o LIRS HulE 1.1 JEH:S::QH: itk e - —
ERRELAN O sl
1 FREiRBLHIEIN o B Hh s —ft 3. U458 —| —|  —| -
2 _ERES O L1 12d 248 108 1) —| —
= g 120 2.8 4. 286 1.l 1.1~ —
S BLL: Ece 11 [t 2.1:2 40080 Lok 1~ —




